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tlote: Wme F-ns‘a_\rers to the thuastians on the theqtive answer sheel provided. Four possible answers A, B, C and D 1o each question are given. Which
answer you consider correct, fiil the corresponding circle A, B, C oF D given in fiont of sach question with Marker or Pen ink on the answer sheet provided,

1.1, LDR becomes necessary when vp-amplifier is used as:

Times 2 Minaboe Wilansdon . 27

(Al Comparator i) Rectifier {C} Inverter Dy Night switch

2. It velocily of body becomes equai to ‘C' then its mass becomes:

(A) Okg () i = mig (C) o o (%] m = Mmoy,
3. Which one is low energy nhoton’

(A} Visible light (1) Infrared light (C) Ultraviolet light (D) x-ray
4. In Heliurn - Neor Laser, the perc 3nlage of Helium is: |

) 5% (1) 65% () 0% - o) 85%

The number of neutron present i the nuclsus is given hy:

I(,.“.

(A) N=4a-Z (t) N=Aa+2 (©) N=z-A 5 (@OF 0. N=Axz
6. ‘e binding energy per nualeon i maximum for: FiE T

A) Radium (£) Polonium - (C) i (D),id

7. Electric flux through a closed surf. ce depends upon: -~ e o
) Charge ) Medium {C). Charge & Medisin @

8. The negative of poten tial gradient is:

9. Charge carrier in electrolyte are:
(A} Posiive & negative lon B Protons D) Holes
10 The sum of eleghic d magnetic orce is called:
Newion force o) Cenlripetal force
i 3
o % P p

12.  Induced emf can be increas _'l,I;yf
(A} Increase resistance of coll (B} ease resistance of coil  (C]  Increase number of tums (D) Decrease magnetic flux

13, The working principle nsfamor is:

{A) Self ind (B) Faraday Law (C) Mutual induction {0 Electromagnetic induction
14, The ating voltagie is a;
(A} Sine curve (B} Tan curve (C) Cotangent curve () Cosine curve

15.  The main‘advantage of use of A.C is:

(A} Minimum line losses (B} tong distance (G} Step up to required voltage (D) Step up to required current
16.  Which of the following does not go ulastic deformation:

(A) Copper (B) Wrought iron (C) Lead (D) Glass

17. The output voltage of rectifier is:
{A) Smooth {B} Puisating () Perfectly direct {D) ) Alternating
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Physics (Subjective) {GROUP-H) Time: 2:40) hours
SECTION-
2. Write short answers of any eiyht parts from the foliowing: 2“"’ P"’) 2-2-23 (8x2=16)
1. What are the photo conductors’: |
il. ~ Show that vim = NIC,
- Do electrons tend to go region of high potential or of low potential’
V. Electric lines of force never crous wiy?
V. Eﬁ;gﬁi?g-r:}ha?ncéhggg in magnetic field inside a solenoid carrying a steady current 'T'. If the number of turns is double, bt
Wi Why does the picture on a TV sureen becomes distorted when a magnet is brought near screen?
vil. - Why the resistance of an ammeier should be very low?
v.fii. What is Lorentz force? Give the role of electric and magneuc force in this regard.
ix. How can radioactivity help in the treatment of cancer?
X, What do we mean by the term ciitical mass? :
xi.  What do you understand by *background radiation™? State two sources of radiation.
xii.  What is the self-quencing in Geiyer Muller Counter? -
3. Write short answers of any eight parts from the foliowing: ) i (8x2=16)
.. What are the difficulties in testing whether the filament of a lighted bulb obeys Ohm's Law?
il. ~ Write down the statement of Kirchoff's current rule and Kirdoff's voltage rule.
lii. Whatis meant by temperature coefficient of resistance?: Gwe its'S 1 umt .
iv.  Draw diagram and wave shape of three phase A.C ganerator S5 s
v. How does doubling of frequency affect the reactance of {a): An inductor (b): A capamto 9
vi. InaR-L circuit, will the current log or lead the voltage? llustrate your answer by avec
vii.  Discuss the mechanism of electrical conduction by holes and electrons in a pure semlmor element.
viil.  What are high temperature supel canductors‘> Gwe some exampies
ix. Define hysteresis and draw hysteresis curve
x. Why ordinary silicon diode do not emit !lght'? e w
xi.  Draw diagram and explain working of trans:slm asa swrtch inits &
xii.  Write down two characteristics of an operationaifamplif%
4. Write short anm_rs of any six parts from the following ". (6x2=12)
. Whatis electromagnetic induction? I\
i.  Does the:dndue always act to decreaset X ux through a circuit?
iii. - How would you posttion a flat loo: of wite ding agnetic field so that there is no emf induced in the loop?
iv.  The period of a pendulum is mea:ure€ 3.0'8i the inertial reference frame of the pendulum. What is its period
measured by an observer maving at a speed of 0:95 ¢ with respect to the pendulum?
v. Define Compton effect and, rite forits wavelength.
vi.  Which has the lower energ& idio waves or X-rays.
vil.  Can pair producﬂon cuum? Explain.
vilil. ~ State postulates o WI of hydrogen atom.
ix. Whatarethea v lasers over ordinary light?
SECTION-
Note questions. Euch question carries equal maiks: (Bx3=24)
5. (a) Demr expreﬁswn for the eneryy stored in the electric field of a capagitor. B
(b) A platinumWire has a resistance of 1042 at 0°C and 2002 at 273°C. Find the volume of temperature co-efficient of resistance of this 3
wire.
6. (a) Derive an expression for self induce emfie. £ = vBL sin . Define unit of self induction. 5
(b) A power line 10.0 m high carries a current 200 A . Find the magnetic field of wire at the ground. 3
7.(a) Find out expression of resonance (1+4)  (b) Calculate the gain of L 4
frequency for the case of series non-inverting i [' ‘N\/\/]
resonance circuit. Also describe it amplifier shown in AN
properties? figure.
'1:)
8.(a) Whatis wave nature of particle? How this ideas was confirmed by Davison and Germer? 144
(b} Awire 2.5 m long and coress section area 10-5m? is stretched 1.5mm by a force of 100N in the elastic region 3
calculate (i) Strain (ii) Young's motlules.
9. (a) Write a note on construction and working of Wilson Cloud Chamber to detect unknown radiations. 5
(b) Calculate the longest waveiength «f radiations for the Paschen Series. ) 3
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